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2 IS HTIEED e ExFELs,
(1) 4L = dL (2) 3L5dL = dL
(3) 20dL = L (4) 62dL = L dL
(5) 1000mL = L (6) 500mL = dL
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(1) BL ¥ 49dL (2) 7dL5mL ¥ 750mL
4 IC HTIEEd #HE EXEL s,
(1) 2L + 5dL (2) 5L1dL + 3dL
= L dL = L dL
(3) 4lL4dL + 3L (4) 3L2dL + 2L6dL
= L dL = L dL
(5) 3L9dL — 4dL (6) BL8dL — 4L
= L dL = L dL
(7) 7L4dL — 3L2dL (8) 8L — 6dL
= L dL = L dL
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(1) 2L4dL (2) 10dL=1L7%%  156dLIEZ 1LDFTT
(2) 1L5dL 10y 1dLo F47T 513V,
2 2
(1) 40dL (2) 35dL | (4) 62dLIz 60dL¥Y 2dLTT,
(3) 2L (4) 6L2dL 60dL=6L
(5) 1L (6) 5dL (6) 1dL=100mL
3 3
(1) 5L (1) 5L=50dL
(2) 750mL (2) 7dL5mL=705mL
4 4
(1) 2L5dL (4) LY9 L, dLY 9 LxALFT,
(2) 5L4dL (8) 8LIX 7Lx10dL7 %5, 6dL%
(3) 7L4dL < x, 7L4dLIT Y FT,
(4) 5L8dL
(5) 3L5dL
(6) 1L8dL
(7) 4L2dL
(8) 7L4dL
5 5
(1) mL AMEDD KREX% HAHZT
(2) L AvE ZALUFLLE I,
(3) dL
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